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FINALTERM    EXAMINATION
CS101- Introduction to Computing
Question No: 1    (Marks: 1)    - Please choose one

[image: image42.jpg]


 First computer network was ___________.
       ► NSFNET 
       ► FIRSTNET

       ► ARPANET
       ► ORPHANET
Question No: 2    ( Marks: 1 )    - Please choose one
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 In a good presentation each slide should contain____________.
       ► Heading
       ► Phrases not sentences
       ► Sentences not phrases
       ► heading, sentences not phrases
Question No: 3    (Marks: 1)    - Please choose one
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 A function is also called __________.
       ► Sub-program
       ► Procedure
       ► Sub-routine
       ► All of the given option
Question No: 4    (Marks: 1)    - Please choose one
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 A single pixel can acquire approximately ___________ color schemes.
       ► 1 million
       ► 2 million
       ► 10 million
       ► 16 million
Question No: 5    ( Marks: 1 )    - Please choose one
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 Which of the following is NOT a Loop statement?
       ► For
       ► While
       ► Switch
       ► Do-While
Question No: 6    ( Marks: 1 )    - Please choose one
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 Which one of the following is NOT a component of Rule Based System?
       ► Rule Compiler
       ► Rule Interpreter
       ► Rules Base
       ► Working Memory
Question No: 7    ( Marks: 1 )    - Please choose one
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 Spread sheet is a type of _______________.
       ► Productivity software
       ► Engineering software
       ► Mathematical software
      ► Business software 
Question No: 8    ( Marks: 1 )    - Please choose one
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 A combination of word processing and graphic design is 
       ► Corel Draw

       ► Desktop Publishing
       ► Paint

       ► WordPad

Question No: 9    ( Marks: 1 )    - Please choose one
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 To store rounded number of 8.6 in a variable called "r_number", we write _____________.
       ► r_numbers=Maths.rounds(8.6)
       ► r_number=Math.rounds(8.6)
       ► r_number=Math.round(8.6)
       ► r_number=Maths.round(8.6)
Question No: 10    ( Marks: 1 )    - Please choose one
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 Which of the following is a true statement?
       ► Flat-file storage is better than tabular storage.
       ► Tabular storage is better than flat-file storage.
       ► Flat-file storage is better than relational storage.
       ► None of the given options
Question No: 11    ( Marks: 1 )    - Please choose one
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 The political process is also influenced by the use of ___________.
       ► Discussion forums
       ► Newsgroups
       ► Mailing lists
       ► All of the given options
Question No: 12    ( Marks: 1 )    - Please choose one
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 The system that manages relational database, is called ______________.
       ► None of the given options
       ► Database Management System
       ► Data Management System
       ► Relational Database Management System
Question No: 13    ( Marks: 1 )    - Please choose one

[image: image13.wmf] 

 ____________ DBMS supports data in terabytes.
       ► Personal
       ► Desktop
       ► Enterprise
       ► Single-user
Question No: 14    ( Marks: 1 )    - Please choose one
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 Trinoo is a __________ software.
       ► DoS
       ► Scanning
       ► Utility
       ► None of the given options
Question No: 15    ( Marks: 1 )    - Please choose one
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 What is the major problem with flash based website?
       ► Its two heavy
       ► Cannot be indexed
       ► Less attractive
       ► Inaccessible
Question No: 16    ( Marks: 1 )    - Please choose one
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 The organization is the collection of ____________.
       ► Peoples
       ► Professionals
       ► Teams
       ► Individuals
Question No: 17    ( Marks: 1 )    - Please choose one
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 The tasks performed to determine the existence of defects is called _______
       ► Debugging
       ► Testing
       ► Repairing
       ► Coding
Question No: 18    ( Marks: 1 )    - Please choose one
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 Many developers write the _________ first and then incrementally convert each line into _________.
       ► Real code & Pseudo code
       ► Pseudo code & Real code
       ► Real code & Artificial code
       ► None of the given options
Question No: 19    ( Marks: 1 )    - Please choose one
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 Forms can be submitted through _______ & _______ methods
       ► INCLUDE, POST
       ► INCLUDE, GET
       ► GET, POST
       ► SEND, POST
Question No: 20    ( Marks: 1 )    - Please choose one

[image: image20.wmf] 

 If an algorithm is syntactically correct, but semantically incorrect then this situation is
       ► Very good situation
       ► Very dangerous situation
       ► Not very bad
       ► Neutral situation
Question No: 21    ( Marks: 1 )    - Please choose one
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 Heuristics _______ lead to the best results.
       ► Sometimes
       ► Do not
       ► Occasionally
       ► Not always
Question No: 22    ( Marks: 1 )    - Please choose one
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 In TCPIP communication fragmentation is responsibility of
       ► TCP
       ► IP
       ► Both TCP and IP
       ► Internet
Question No: 23    ( Marks: 1 )    - Please choose one
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 Access to the internet became easy after the invention of
       ► WWW & Web Browsers
       ► Mainframes
       ► Binary system
       ► Signals
Question No: 24    ( Marks: 1 )    - Please choose one
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 Which one is the example of spreadsheet software ?
       ► MS Word
       ► MS PowerPoint
       ► MS Excel
       ► MS Access
Question No: 25    ( Marks: 1 )    - Please choose one
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 User can remotely log on to a computer and can have a control over it like a local user using
       ► TelNet Protocol
       ► TelNet Protocol and connected to the user through TCP/IP network
       ► TelNet protocol and FTP
       ► TCP/IP and FTP
Question No: 26    ( Marks: 1 )    - Please choose one
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 If incorrectly we enter the negative age it is check by
       ►  Limit Integrity
       ► Type Integrity
       ► Referential Integrity
       ► Physical Integrity
Question No: 27    ( Marks: 1 )    - Please choose one
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 ------------------ is a digital programmable mechanical machine 
       ► Analytical Engine
       ► Difference Engine
       ► Harvard Mark 1
       ► Mechanical engine

Question No: 28    ( Marks: 1 )    - Please choose one
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This element of Flow Chart is called_____________.
       ► Process
       ► Off page connector
       ► Decision
       ► Connector
Question No: 29    ( Marks: 1 )    - Please choose one
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 In a library’s database, if there is an entry in the register for Book # 423 then the          corresponding Book must actually exist; is an example of which type of data integrity:
       ► Type integrity
       ► Limit integrity
       ►     Physical Integrity
       ►  Referential Integrity
Question No: 30    ( Marks: 1 )    - Please choose one
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 Ada is a programming language specifically designed for

      ► Analytical Engine
       ► Difference Engine
       ► Harvard Mark 1
       ► Mechanical engine

Question No: 31    ( Marks: 1 ) 
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 What are the elements of website design? Any one
Question No: 32    ( Marks: 1 ) 
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 What does TCP/IP stand for?
Question No: 33    ( Marks: 2 ) 
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 What is the database? 
Question No: 34    ( Marks: 2 ) 
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 What is the use of Default keyword in switch structure?
Question No: 35    ( Marks: 3 ) 
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 How can we include images in a web page using HTML and Java script?
Question No: 36    ( Marks: 3 ) 
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 Where "While" loop is more  preferable than "For" loop and vice versa ? , explain with the help of example.
Question No: 37    ( Marks: 3 ) 
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 What do you mean by FTP or File Transfer Protocol?

Question No: 38    ( Marks: 5 ) 

[image: image38.wmf] 

 Differentiate between For and While loop by writing the syntax of both loops.
Question No: 39    ( Marks: 5 ) 

[image: image39.wmf] 

 Write JavaScript code for the following:

Make a function compareWithTen(value)

Compare the function argument with ‘10’ and display a message whether the value is less than, equal to or greater than 10.
Question No: 40    ( Marks: 10 ) 
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 What is the problem with Relational Database and what solution you can suggest for it?
Question No: 41    ( Marks: 10 ) 

[image: image41.wmf] 

 Develop a web page that displays six thumbnail images. A main image should change to a larger version of the thumbnail as soon as the mouse moves over a thumbnail image. Write complete HTML and JavaScript code.
PAGE  
https://www.vustudy.com/

[image: image1.wmf] 

